

Invoice Date: 02/14/23

Invoice Number: 3680181

Account ID: BG-170748 Due Date: 03/03/23

For Customer Caret

GasCustomerCare@constellation.com

here (844) 200-3427

wahata www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$19,092.40

■ Other Gas Related Charges \$5,024.31

™ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$24,116.71

Total Amount Due

\$24,116.71

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576 Service for Jan-2023 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Incremental Gas Costs Subtotal Gas Supply Charges

Subtotal das Supply Charg

Disbursement - Transport Commodity
Subtotal Other Gas Related Charges

Total Current Site Charges

Other Gas Related Charges

Quantity	Rate	Amount
1,781.00 Dth	\$3.10000	\$5,521.10
356.00 Dth	\$3.55000	\$1,263.80
3,282.00 Dth	\$3.75000	\$12,307.50
5,419.00 Dth		\$19,092.40

\$5,024.31 \$5,024.31

\$24,116.71



Invoice Date: 03/15/23 Invoice Number: 3705877 Account ID: BG-170748 Due Date: 04/03/23

For Customer Care:

CasCustomerCare@constellation.com

(844) 200-3427

www.constellation.com

SUMMARY CHARGES

\$19,723.83 **■** Gas Supply Charges

\$3,836.01 M Other Gas Related Charges

\$0.00 M Taxes

\$0.00 Account Adjustments

\$23,559.84 **Total New Charges**

Total Amount Due

\$23,559.84

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Feb-2023 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Subtotal Gas Supply Charges

Other Gos Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Total Current Site Charges

Quantity	Rate	Amount
1,706.00 Dth	\$3.10000	\$5,288.60
341.00 Dth	\$3.55000	\$1,210.55
4,088.00 Dth	\$3,23500	\$13,224.68
6.135.00 Dth		\$19,723.83

\$3,836.01

\$3,836.01

\$23,559.84



Invoice Date: 04/12/23
Invoice Number: 3721671

Account ID: BG-170748 Due Date: 05/01/23

TO THE COURSE AND

eman CasCustomerCare@constellation.com

hore (844) 200-3427

www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$6,858.00

Other Gas Related Charges \$3,791.04

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$10,649.04

Total Amount Due

\$10,649.04

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940

Customer ID: RG-158576

Service for Mar-2023 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity

Subtotal Other Gas Related Charges

Total Current Site Charges

Quantity

1.800.00 Dth 360.00 Dth 2,160.00 Dth

- 36

\$3,10000 \$3,55000

\$5,580.00 \$1,278.00

Amount

\$6,858.00 \$3,791.04

\$3,791.04

\$10,649.04



Invoice Date: 05/11/22
Invoice Number: 3472286

Account ID: BG-170748

Due Date: 05/30/22

For Customer Care:

Email GasCustomerCare@constellation.com

(844) 200-3427

website www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$5,428.32

Other Gas Related Charges \$1,891.26

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$7,319.58

Total Amount Due

\$7,319.58

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Apr-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Buyback

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity
Subtotal Other Gas Related Charges

 Quantity
 Rate
 Amount

 1,500.00 Dth
 \$2,50000
 \$3,750.00

 550.00 Dth
 \$3,10000
 \$1,705.00

 -5.00 Dth
 \$5,33600
 -\$26.68

 2,045.00 Dth
 \$5,428.32

\$1,891.26 \$1,891.26

\$7,319.58

Total Current Site Charges



Invoice Date: 06/14/22

Invoice Number: 3498949

Account ID: BG-170748

Due Date: 07/01/22



an Chevanier Care

mail GasCustomerCare@constellation.com

hose (844) 200-3427

y_{alkaha} www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$5,532.50

Other Gas Related Charges \$1,246.44

Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$6,778.94

Total Amount Due

\$6,778.94

Message Center

Thank you for being a Constellation customer!

PME 621.22

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: NG-158576

Service for May-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Total Current Site Charges

Quantity	Rate	Amount
1,500,00 Dth	\$2,50000	\$3,750.00
575.00 Dth	\$3.10000	\$1,782.50
2,075.00 Dth		\$5,532.50

\$1,246.44 \$1,246.44

\$6,778.94



Invoice Date: 07/12/22

Invoice Number: 3515122

Account ID: BG-170748 Due Date: 07/29/22

or Customer Care:

GasCustomerCare@constellation.com

thone (844) 200-3427

absite www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$17,353.75

Other Gas Related Charges \$2,756.73

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$20,110.48

Total Amount Due

\$20,110.48

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Jun-2022 - Actual

Gas Supply Charges Fixed Basis with Fixed Commodity Gas

Fixed Basis with Fixed Commodity Gas Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Total Current Site Charges

 Quantity
 Rate
 Amount

 1,500.00 Dth
 \$2.50000
 \$3,750.00

 575.00 Dth
 \$3.10000
 \$1,782.50

 1,351.00 Dth
 \$8.75000
 \$11,821.25

 3,426.00 Dth
 \$17,353.75

\$2,756.73 \$2,756.73

\$20,110.48



Invoice Date: 08/10/22 Invoice Number: 3539321 Account ID: BG-170748 Due Date: 08/29/22

For Customer Care

Email CasCustomerCare@constellatton.com

Phono (844) 200-3427

Website www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$8,234.38

Other Gas Related Charges \$1,867.85

□ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$10,102.23

Total Amount Due

\$10,102.23

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Jul-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas

Fixed Basis with Fixed Commodity Gas

Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity

Subtotal Other Gas Related Charges

Total Current Site Charges

Quantity	Rate	Amount
1,500.00 Dth	\$2.50000	\$3,750.00
581.00 Dth	\$3.10000	\$1,801.10
350.00 Dth	\$7.66650	\$2,683.28
2,431.00 Dth		\$8,234.38
		\$1,867.85

\$10,102.23

\$1,867.85



Invoice Date: 09/13/22

Invoice Number: 3562461

Account ID: BG-170748 Due Date: 09/30/22

For Customer Care:

GasCustomerCare@constellation.com Emall

(844) 200-3427 none

www.constellation.com lebsite

SUMMARY CHARGES

\$5,455.00 ■ Gas Supply Charges

\$1,195.99 Other Gas Related Charges

\$0.00 **■ Taxes**

\$0.00 Account Adjustments

\$6,650.99 **Total New Charges**

Total Amount Due

\$6,650.99

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940

Customer ID: RG-158576

Service for Aug-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas

Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity

Subtotal Other Gas Related Charges

Quantity 1.500.00 Dth

550.00 Dth

2,050.00 Dth

\$2,50000 \$3,10000

\$3,750.00 \$1,705.00

Amount

\$5,455.00

\$1.195.99 \$1,195.99

\$6,650.99

Total Current Site Charges



Invoice Date: 10/13/22
Invoice Number: 3591576

Account ID: BG-170748

Due Date: 10/31/22

For Customer Caret

and GasCustomerCare@constellation.com

Phone (844) 200-3427

nas-tal soow constallation con

SUMMARY CHARGES

■ Gas Supply Charges \$15,300.15

Other Gas Related Charges \$2,082.19

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$17,382.34

Total Amount Due

\$17,382.34

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc. 401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Sep-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Incremental Gas Costs

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Total Current Site Charges

Quantity	Rate	Amount
1,500.00 Dth	\$2,50000	\$3,750.00
525.00 Dth	\$3.10000	\$1,627.50
1,245.00 Dth	\$7.97000	\$9,922.65
3,270.00 Dth		\$15,300.15

\$2,082.19 \$2,082.19

\$17,382.34



Invoice Date: 11/10/22
Invoice Number: 3610525

Account ID: BG-170748 Due Date: 11/28/22

zor Gustomer Garet

andle GasCustomerCare@constellation.com

thuns (844) 200-3427

Website www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$23,845.75

Other Gas Related Charges \$4,676.60

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$28,522.35

Total Amount Due

\$28,522.35

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576 Service for Oct-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Total Current Site Charges

Quantity	Rate	Amount
1,500.00 Dth	\$2,50000	\$3,750.00
538.00 Dth	\$3.10000	\$1,667.80
2,790.00 Dth	\$6,60500	\$18,427.95
4,828,00 Dth		\$23,845.75

\$4,676.60 \$4,676.60

\$28,522.35



Invoice Date: 12/12/22 Invoice Number: 3631423 Account ID: BG-170748 Due Date: 12/29/22

or Customer Cale:

(344) 200-3427

www.constellation.com

Total Amount Due

\$36,490.58

Message Center

Thank you for being a Constellation customer!

SUMMARY CHARGES

532,164.47 M Gas Supply Charges

\$4,326.11 M Other Gas Related Charges

\$0.00 **■ Taxes**

\$0.00

M Account Adjustments

\$36,490.58 **Total New Charges**

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St, Irvington, KY 40146-7241

LDC Account: SGT940 Customer ID: RG-158576

Service for Nov-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Other Gas Related Charges

Disbursement - Transport Commodity Subtotal Other Gas Related Charges

Total Current Site Charges

Quantity	Rate	Amount
375.00 Dth	\$3.10000	\$1,162.50
975.00 Dth	\$3.55000	\$3,461.25
5.220.00 Dth	\$5.27600	\$27,540.72
6,570.00 Dth		\$32,164.47
		\$4,326.11
		\$4,326.11
	44000	

\$36,490.58



Invoice Date: 01/12/23
Invoice Number: 3653204

Account ID: **BG-170748**Due Date: **01/30/23**

For Customer Care:

Email GasCustomerCare@constellation.com

Phone (844) 200-3427
Website www.constellation.com

SUMMARY CHARGES

■ Gas Supply Charges \$24,288.75

Other Gas Related Charges \$5,698.17

■ Taxes \$0.00

Account Adjustments \$0.00

Total New Charges \$29,986.92

Total Amount Due \$29,986.92

Message Center

Thank you for being a Constellation customer!

SITE DETAILS

Irvington Gas Company, Inc.

401 S 1st St. Irvington, KY 40146-7241

LDC Account: SGT940

Customer ID: RG-158576

Service for Dec-2022 - Actual

Gas Supply Charges

Fixed Basis with Fixed Commodity Gas Fixed Basis with Fixed Commodity Gas

Subtotal Gas Supply Charges

Incremental Gas Costs

Other Gas Related Charges

Disbursement - Transport Commodity
Subtotal Other Gas Related Charges

 Quantity
 Rate
 Amount

 375.00 Dth
 \$3.10000
 \$1,162.50

 975.00 Dth
 \$3.55000
 \$3,461.25

 3,450.00 Dth
 \$5.70000
 \$19,665.00

 4,800.00 Dth
 \$24,288.75

\$5,698.17 \$5,698.17

\$29,986.92